Enkopings BS
Trivselbridge 2020-03-02

Partavling, 7 bord, 14 par. Antal brickor: 18. Medel: 108.0.

Plac Par Poang % Namn MID Klubb
1 7 143 66.20 Margret Torngvist - Rig Grandin 57980 57854 Enkodpings BS
2 10 139 64.35 Carla Toll-Magnsjo - Britt-Louise Carlsson 38305 57978 Enkdpings BS
3 4 130 60.19  Anne Marie Tapper - Ulla Lindgren 61619 41501 Enkopings BS
4 5 121 56.02 Kalle Wahlsten - Monica Forsling 59121 59116 Enképings BS
4 13 121 56.02 Gia Hedstad Akerlind - Kristina Lindblad 57982 57981 Enkdpings BS
6 2 114 52.78 Sonja Jonsson - Conny Johansson 59906 59905 PRO Enkdping Bridge
7 12 112 51.85 Andreas Borbely - Margareta Ivedal 66800 89994 PRO Enkoping Bridge - Enkdpings BS
8 8 104 48.15 Gunilla Sjodén - Thomas Sjodén 64713 60660 Enkdpings BS
9 14 97 4491 Gunnar Kaiheden - Ragni Kaiheden 57883 57882 Enkopings BS
10 3 96 44.44  Lars Boivie - Inger Jonsson 66792 66794 PRO Enkoping Bridge
11 9 89 41.20 Ingrid Ekstrand - Ola Ekstrand 65920 65921 Enkdpings BS
12 6 86 39.81 Birgitta Glaumann - Eva Angstrém-Birgersson 61629 46879 Enkopings BS
12 11 86 39.81 Harry Bertilsson - Karin Bertilsson 51972 51973 Enkoépings BS
14 1 74 34.26 Lars-Erik Gadin - Lars Andersson 61621 27349 Enkdpings BS
1 4963 Basta kontrakt 2 4 Kn109 Basta kontrakt 3 48 Basta kontrakt
Nord v95 64 O =-920 Ost v8 ANT S =630 Syd v D942 6NT S =990
Ingen + KKn109832 NS + ED765 ov + E10852
*9 & ¢ v & NT #EKn94 & ¢ v & NT &ED7 & ¢ v & NT
4 Kn107 s E4 N17161 4E8732 454 N 109 7 7 10 4 Knl07 4 E96432 N 1212128 12
vKKn10642 vED S17161 vKn10 v EK7432 S 109 7 7 10 v85 v K63 S 1212128 12
¢- ¢E74 O 125 117 10 ¢ Kn9843 + 10 024653 ¢ Kn9643 ¢ 7 011151
#E753 #D108642 V 125 117 9 *7 #8532 V24653 »964 #Kn105 Vi1i1i151
4 KD852 « KD6 « KD5
v 873 v D965 v EKn107
+ D65 + K2 + KD
#KKn #KD106 #K832
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng
5 12 3y V= 43 -140 120 0.0| 2 11 3NS+1 42 630 100 2.0|10 2 4y S+2 a7 480 12.0 0.0
10 1 3#0+3 +6 -170 100 20| 3 6 3NS+1 42 630 100 20| 9 8 4v S+l 47 450 9.0 3.0
2 11 5¢ N-4 vA -200 80 40|10 1 3NS+1 42 630 100 20|14 1 4vy N+1 ¢7 450 9.0 3.0
3 6 4v 0= oK -420 6.0 6.0| 5 12 3NS= +8 600 60 6.0 4 7 3NS+1 a7 430 6.0 6.0
13 4 4v V+1 2 -450 40 80|14 9 2NS= 42 120 40 80|11 3 4vS= ¢3 420 3.0 9.0
8 7 4v V+2 9 -480 10 11.0| 8 7 3NS-1 vl] -100 10 11.0{13 5 4v S= aJ 420 3.0 9.0
14 9 4v V+2 +9 -480 10 110|113 4 3NS-1 a2 -100 10 110| 6 12 5¢ S-1 v5 -50 0.0 12.0
4 4 E954 Bésta kontrakt 5 » EK102 Bésta kontrakt 6 « E1053 Bésta kontrakt
Vast v- 4y V =-620 Nord vE2 7v OD-61400 |Ost v 876 34 O =-110
Alla +D1064 NS ¢ 105 ov ¢ 842
#K7532 & ¢ v & NT #E10983 & ¢ v & NT »E86 & ¢ v & NT
410 & KKn87 N6 3363 4Kn987 43 N 12116 128 « KD9 4 Kné4 N47566
vED9 v K10876 S 6 336 3 vKKn96 1087543 S 12116 128 v 105 vED432 S 47566
¢ EK982 ¢ Kn53 O 6 10106 9 ¢DKn2 ¢963 012712 ¢ Kn65 ¢E7 096867
#EKN104 %6 V 7 10107 9 #54 *K72 vVi1i2712 #DKn932 &K54 V95866
4 D632 4 D654 4872
v Kn5432 vD v KKn9
*7 + EK874 + KD1093
«D98 #DKn6 #107
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
13 5 3NO-1 v5 100 120 00| 5 8 44 N+2 v7 680 120 00|13 6 3&V-1 A 100 11.0 1.0
10 2 2NV= a4 -120 100 20|10 3 44 N+1 v7 650 100 20|14 2 3aV-1 4A 100 11.0 1.0
14 1 26 V+2 s A -130 80 40|14 2 44 S= *4 620 80 40|12 7 INV+1 43 -120 8.0 4.0
6 12 3v O= .7 -140 50 7.0| 1 9 34 N+2 «2 200 6.0 6.0 1 9 INV+2 v6 -150 50 7.0
11 3 2v O +1 .7 -140 50 7.0|11 4 24 N+1 v3 140 30 90| 5 8 INV+2 a5 -150 50 7.0
4 7 3NV= *2 -600 20 100|13 6 34 N= vT 140 30 90|10 3 1v O+3 *7 -170 20 100
9 8 4v 0= 43 -620 0.0 12.0|12 7 44 N-1 *2 -100 0.0 12.0|11 4 3NV= 43 -600 0.0 12.0
7 » Kn6 Basta kontrakt 8 753 Bésta kontrakt 9 10 Basta kontrakt
Syd v Kn1042 2NTV =-120 Vast v KDKn93 44 V D -2 300 Nord v KDKn3 6y N =980
Alla ¢ 1052 Ingen ¢ 65 ov + 1096
#D1063 & ¢ v & NT #EK8 & ¢ v & NT #KDKn87 & ¢ v & NT
41075 498432 N6 6545 4109864 &EKD2 N 4 10104 7 4 KKNn73 4952 N 116 128 8
vED963 v85 S 66545 vE v 10874 S 4 10104 7 v 385 v 1042 S 116 128 8
+ 87 + EK64 O6 7 8 88 +D3 ¢72 082284 ¢ EKKN75 ¢ D432 016153
»875 *EK V6782838 #D10972 #Kn64 V8228284 «54 2963 V16153
4 EKD 4 Kn « ED864
v K7 v 652 vE976
¢ DKn93 + EKKn10984 +8
#Kn942 #53 #E102
Par Kontr ut Res Poéang Par Kontr ut Res Poang Par Kontr Ut Res Poang
14 3 3NO-2 +9 200 120 00| 2 1 3vN+1 +2 170 120 00| 7 1 4vy N+2 +2 480 11.0 1.0
10 4 2v V-1 46 100 100 20| 6 9 3¢ S+2 vA 150 70 50(12 9 4y N+2 ¢2 480 11.0 1.0
2 1 INS= v3 90 6.0 6.0| 7 13 3¢ S+2 vA 150 70 50[(10 5 4vy N+1 ¢+Q 450 70 5.0
6 9 INS= v5 90 6.0 6.0|10 4 4¢ S+1 vA 150 70 50(13 8 4y N+1 +3 450 70 5.0
7 13 INS= v3 90 6.0 60|11 5 2NN+1 «4 150 70 50(11 6 2y N+1 ¢Q 140 40 8.0
12 8 INS-1 v3 -100 2.0 10.0|12 8 3¢ S+1 vA 130 2.0 100| 4 14 34 S-1 ¢ A -50 2.0 10.0
11 5 INS-3 v3 -300 0.0 12.0|14 3 INS+1 %2 120 0.0 120| 3 2 3NN-3 +Q -150 0.0 12.0
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10 4632 Basta kontrakt 11 4 D96532 Basta kontrakt 12 4 EB3 Basta kontrakt
Ost v KKn982 3v S =140 Syd v54 5v V =-450 Vast v EKn86 24 N =110
Alla + E872 Ingen + KD6 NS +9
»8 & ¢ v & NT #Kn4 & ¢ v & NT #E8543 & ¢ v & NT
« D8 « E10974 N66 9 6 7 + K « EKn107 N14151 4 K985 4Knl04 N8 7 8 86
vED64 ¢5 S76 967 vEKDKn92 ¢103 S14151 v72 v D943 S 88887
¢+ K95 410643 O56 465 ¢73 49854 O 108 118 9 ¢+ K108 ¢ D542 045456
D764 #K102 V56465 #K1093 *ED7 V 108 118 9 #KD97 #Kn2 V45456
& KKn5 484 4 D72
v 1073 v 876 v K105
¢ DKn + EKn102 + EKn763
#EKN953 #8652 #106
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poéang
4 14 14 O-2 vT 200 120 00|12 1 3vV+l +K -170 120 00|11 7 1vyDN+2 42 560 12.0 0.0
10 5 2v N+1 aA 140 100 20| 4 3 2vV+3 49 -200 100 20| 6 10 2y N+2 *] 170 9.0 3.0
13 8 INS+1 4Q 120 80 40| 6 10 4v V+1 46 -450 6.0 6.0|12 1 2v N+2 &2 170 9.0 3.0
11 6 24 0-1 «A 100 6.0 6.0| 9 13 4v V+l +K -450 6.0 6.0 4 3 2vN= T 110 6.0 6.0
3 2 INS= &4 90 40 80|14 5 4vV+l + K -450 6.0 6.0 8 2 INS= a5 90 40 8.0
7 1 INS-1 v4 -100 1.0 110| 8 2 4v V+2 LN -480 1.0 11.0| 9 13 2NS-1 a7 -100 1.0 11.0
12 9 INS-1 v6 -100 1.0 110|111 7 4v V+2 a5 -480 1.0 11014 5 2NS-1 49 -100 1.0 11.0
13 4 Kn972 Bésta kontrakt 14 410842 Bésta kontrakt 15 43 Bésta kontrakt
Nord v7 3¢ N =110 Ost v EKNn62 4¢ O =-130 Syd v E53 4¢ S =130
Alla + EK105 Ingen 2 NS + Kn632
*EK65 & ¢ v & NT +D1084 & ¢ v & NT #EKN1053 & ¢ v & NT
«ED43 4865 N8 9 887 ~ E96 & 753 N9 3563 4 EK87 4 D542 N 6 108 6 8
v105 vKD94 S89887 v 10974 vKD3 S9 356 3 v9 v DKn864 S 6 108 6 8
¢D92 ¢ Kn76 04 4445 + 987 ¢EKDKN53 O 4 107 6 8 +D109 +5 06 2565
D873 #1092 V44445 #E93 &5 V 4 107 6 8 #KD842 #976 V625675
« K10 & KDKn » Kn1096
v EKn8632 v 85 v K1072
4843 + 1064 + EK874
+Kn4 #KKn762 »-
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 4 3NN= v4 600 100 20| 1 13 44 O-1 & K 50 11.0 1.0|13 2 2¢ S+1 «Q 110 120 0.0
8 11 3NN= v9 600 100 20|10 7 4v V-1 *4 50 11.0 10| 7 14 2¢ S= s A 90 100 2.0
12 2 3NN= ¢6 600 100 20| 5 4 2¢ O+1 &K -110 50 70|11 9 3saV-1 2 50 8.0 4.0
1 13 2NN= 45 120 6.0 60| 6 14 2¢ O+1 a K -110 50 70| 1 4 1laV= 2 -80 6.0 6.0
6 14 3NS-1 3 -100 20 100| 8 11 1¢ O+2 oK -110 50 70| 6 5 3¢ S- s A -100 40 8.0
9 3 3NN-1 a5 -100 20 100|112 2 2¢ O+l *7 -110 50 7.0| 3 12 24 V= ¢+6 -110 1.0 11.0
10 7 3NS-1 3 -100 20 100| 9 3 1¢ O+4 oK -150 0.0 12.0| 8 10 24 V= +3 -110 1.0 11.0
16 4943 Basta kontrakt 17 41053 Basta kontrakt 18 49652 Basta kontrakt
Vast vKn10943 2v N =110 Nord v 973 7v N D -3-500 Ost v KKn93 34 S =140
oV ¢ E7 Ingen + Kn8754 NS 4963
#Kn104 & ¢ v & NT *K7 & ¢ v & NT »86 & ¢ v & NT
4 DKn87 &E5 N65876 4 D872 «EKKN964 N 2 5 101 3 « KD 4743 N59597
v 765 v 82 S 65876 v- v54 S 25 101 3 v D842 vE765 S59597
+ K10 4986542 078565 ¢ E62 + KD3 O 118 3 125 ¢ 72 4105 0847 46
#ED82 #K75 V78565 #E96432 #DKn V 118 3 125 #EKD102 #Kn754 V847 46
& K1062 .- « EKn108
v EKD v EKDKn10862 v10
¢ DKn3 + 109 + EKDKn84
#963 #1085 293
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 10 3¢ O-2 vA 200 120 00|13 3 4v S= &A 420 120 00| 7 6 54DV-3 ¢3 500 12.0 0.0
7 14 2y N= 5 110 100 20| 7 6 5vS-1 ¢ A -50 100 20| 2 5 4aV-2 ¢6 100 9.0 3.0
6 5 24V-1 vJ 100 80 40| 1 11 44 0O+1 vA -450 6.0 6.0[13 3 4aV-2 +3 100 9.0 3.0
11 9 1a S= »2 80 60 6.0 2 5 44 0+1 vA -450 6.0 6.0|12 4 3vV-1 +3 50 50 7.0
13 2 la V= *A -80 40 80| 9 10 54 O= vA -450 6.0 60|14 8 2v0-1 ¢A 50 50 7.0
3 12 284V= v9 -90 20 10.0|12 4 54 O+1 vA -480 1.0 11.0| 1 11 3¢ S-1 A -100 2.0 10.0
1 4 1laV+l *A -110 0.0 120|14 8 44 O+2 vA -480 1.0 11.0| 9 10 3« V= v3 -110 0.0 12.0
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